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Name

Score

Solve each equation. Use your answers to draw a path from start to !nish.

=  1n
5

=  9k
8

=  4c
4

=  2u
6

7h = 14 n + 4 = 5 w – 2 = 12 17 9

5x = 15 g – 3 = 7 p + 2 = 2 0 12 10

Finish 9d = 27 1 + q = 312 3 2

3m = 21
s – 6 = 6 t + 1 = 1012

5 0 9 42

21 9 13 3

13 20 4 8

10 8

36 72

7

2

1

0

3 7

16

Start
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Answer key

Solve each equation. Use your answers to draw a path from start to !nish.

=  1n
5

=  9k
8

=  4c
4

=  2u
6

7h = 14 n + 4 = 5 w – 2 = 12 17 9

5x = 15 g – 3 = 7 p + 2 = 2 0 12 10

Finish 9d = 27 1 + q = 312 3 2

3m = 21
s – 6 = 6 t + 1 = 1012

5 0 9 42

21 9 13 3

13 20 4 8

10 8

36 72
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